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And we derive from this that elsewhere the monies are returned

Overview

MR 27 explained that the case of n?2X 1077 is referencing the X9°0 of the mwn (the
case of 17211121 112 °% *wIpni), and indeed the meaning of the mwn is that the last
date must be a 5". X217 said that we derive three rules from this explanation of 27
my,! the last one is that PANA Xn5¥2 nwn. Our N0 explains the meaning of Myn
1117 8nov2 and how it is derived from "»X 2.

=173 172 1T NVINDA FYTPNN NY N BN 2\’)1‘1’ﬁ
The explanation of 1 117 X1nHva nwn is; if the man said, ‘become nwTIP2 to me

with this 71199 and this one and this one (with three n117) -
= YTPYN 12 TN PYITIPN 199X XDV TIya)

And while the 12172 were not yet completed (he did not give her yet all the

three Mmu179), he retracted from being w7pP» her (he did not want the v TP to take

effect) -
V) 19101 AYENR NIN PP NIHX NINN NTNN ONP N 9919V MYNN 1997 13999N XY

We do not say that the monies which he gave her before the retraction should
be considered a gift (and she may keep them), but rather the monies that he gave
her (before the 7W17°? were completed) are a deposit by her, and they revert

back to him, if he decides to cancel the Pw T before he gave her all the money -
= 9729 172 13 N9NNA SYTPNN N IRV 199N 1) NN

So here too, we say that when he said to her 1721 1721 37 ;792202 %% “w7pPn:T -
= NYSN N “m51 NYANY A1) N9IWY NHYNIN NYIN 191257 ) XYY 1Iya)

And until he did not manage finishing his saying (121 °> *w7pn:7), she ate the

" The first two are NWTPA 1R M3 wIpna and JUTIOX ANYT 70D WP WIPHI.

* mooin by saying 'wio', may be excluding '@, where it seems that the rule of 1nm nwn is by IMAR WTp» (as
well), therefore n1v0IN explains that we are discussing a valid w17°p, and that is where »X " maintains 7717 NN
(however by 1M wpn it is possible that »n& "1 agrees with Xmw that 7i1nn Mvn).

? The understanding is that as he is giving her the MvD, we consider each 71 as a deposit to the woman, so in
case he gives her all the three 1175 and the Pw17°p is completed, she keeps all the three NI as part of the Pw TP
payment; however if he cancels the Pw17°p before giving the third 7v179 (for instance), the woman must return the
two nw11d she received, for they were given to her (until the conclusion of the Pw17p [which did not take place]) as
a deposit, which must be returned to its owner. [If however we would consider it a gift (meaning that when the man
is giving her each 7179 it is pending, on whether he will complete the 1"¢17°p, so then this gift is part of the w1 TR
payment, or whether he retracts the 1"217°p, so then these N1 remain hers as a gift) they remain by her.]

* Here it cannot be considered a deposit (as it was by the money) since she ate up the deposit, therefore now it is a
loan which she owes the man.
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first and second dates, whatever she ate is considered a loan to her -
- 73YINNA NV P98 799 *Pya RINY N1 RIN 19INS N

And the 7U17°p cannot take effect on the loan, but only on what is present, so
therefore it is necessary that there be a 71wY92 MW, by the last date.

mooIn explains how we derive from °nR ' that 1717 81792 myn (and are not a 7Inn):
- 130’ XYY MY NN INT

For if we say min» Xnabya nwn -
= 11139997TINY NP XD NYER NINN DINYNIN MPNN NN PYITPN 191933 XIT XD

So that when the w17’ were not completed (the man retracted) the first
monies that he gave her are considered a gift to her, and she is not required to

return them to him, so then in a case -
= N2 2 PP oYY 1937 9937 XN

Where he completed his speaking for the sake of w79 as is the case here

(where he completed giving her all three dates and did not retract) -
= ADAN N71 NYIN 291 ODIYA DIIRY D99 JMINX JY N 1PWITIPN IIINT N1

We should say that the 2175 should take effect even on those dates which do

not exist (the [two] eaten dates), for when she ate them she ate her own dates -
= PYYTPN 793 910 3 TAYEN 1 NINN 29NY PUITH NN RY RaYYA NnYwaT

For granted that elsewhere when he retracted from the w5 (before giving
her the third 7v179) there is no 1PwY7TOP; since it is a gift to her (not v 7P money

since he retracted) -
= PYITIPN DD 9190 KDY 1997 NIIYNRIN NDIN 157 9133 YN NYWTPHN 9H ROYW NI YaN

However here where he did not retract from the 1P217°p, so granted that when

she ate the first (dates) the P217°p was not completed yet (for he needs to give her
all three dates), nevertheless -

- 59 N PYITIH NNINAT 1159 XNNPA 9N 393 SAwTpm)
He is w7p» her even with the first (eaten) dates, since they came to her as
PR payment -
= A9 SNN PYYTD 1INAT 11 DUNPNT 1PIIRT 1,039 3797 munn 19981 15 N

> One cannot be w7pn a woman with a mn (see previously on 3,1 and elsewhere).

% 7anm myn (again) means that when the man is giving her the PwT°» money in stages (one 710179 then another 70179,
etc.) it means that he is giving the money to her as a gift, pending whether the Pw17p will be completed so this gift is
wITP A0 (and it belongs to her as her 1"w17°p), or whether the 1w17°p are not completed (he changes his mind),
nevertheless the money still belongs to her as a gift.

7 See “Thinking it over’.

8 The w"w amends this to read 7wpn (instead of wIpHY).

? See footnote # 6, that 7110 N means that if the Pw17P are completed the initial money given is for 7w 7p 7o3.

!0 This is the case where a man gave a woman money for Pw17°p with the stipulation that the Pw17°p take effect after

2
TosfosInEnglish.com



vawy a7 "0 2,7 Y TR 702

For it is like the later case of my» Y2o8n1 (the monies were consumed), where
we say that she is nw7IP» (even though that at the time of PwY7°Pn M0 there is no

money present), since it came to her possession as 1°217°? money. The same should

be here that -
= NHYTIPN 19192 1IN RN»NPA NHN NVI9 MY PN 1PN

Even if there is no o' only by the first dates (and not by the last remaining
date), or even more so that there is a "W (only) by all the dates combined, she is
nWTIPN.

NMo0IN comments:
= 9N Y29 ININYI 29 2199 NHAT Ny Y9

And there is a possibility that %Xwwy 29 (who maintain that n?2W 7n°7 is
referencing the Xv"1) and »8 '3 (who maintains that N2 1n°7 is referencing the

X9'0) are arguing this issue whether mnn xn%v2 Mmyn or PINM XY MR -
= 1NN NNYYA MYN 920 HNINYY 299

For X2 21 maintain the 7ann X25pa ny» -
= MOHVEM 1919 192N NIN 119NN N1VII9 NIV )3*¥a NDT NIV ND)

And not only is it obvious that we do not require a 'Y by the last date, but

even more so, all the dates combine for a »"w even the eaten ones, and we do not

require that there be a 8" by the last one (or any one for that matter) -
= NV NIV )N HNNI NPY 1Y NP RN NIYON INP 810 390 12 ON)

So therefore how can the case of n?23X n°7 be referencing the x2°0 since the
mwn states (regarding the case of 21 92 1n°n) that she is not NwTpPn unless

there is a 'Y by one of them (or the last one) -
- Zpuraats NYIN IND NIN
Rather according to X1 27 we must say that n95W 1n°77 is referencing the
w9, as I explained -
$PYIN9T9 09NN NNTYA MYN 920 N 2
However 2R 37 maintains that 2917 82%v2 nwv» as I explained, therefore nn°7
nooW is referencing the X9°0 and it requires a 7NNR2 5" W.

thirty days. The rule is that she is nwTpn after thirty days even though the money was consumed. Even though
previously (on &,11) 12081 1"7 '0Wn distinguished between our case of dates and the case of myni 1738N1, nevertheless
here when we are assuming (hypothetically) that 73nn nwn the two cases are similar. It is only if we assume nwn
1 (they are a loan) that mooin distinguished between these two cases.

" mpoin writes N H19m (it is possible but not mandatory), for 27 can agree with X "3 that M1 Myn (it is a loan),
but nevertheless 27 does not want to establish the case of N9 7n°7 on the X9°0, because he perhaps maintains w7pn7
TI9NR 7NYT AYIN9Y MYA3, so even if there is a 711IR2 VD she is not NWTIPA since MPNR ANYT. See 7"7IN2 R"WAR
AANKRT.

"2 w1975 may mean that since YX7w1 27 maintain 73m My, the case of NY2W N7 must be referencing the Xw™.
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Summary
If we assume that 710 X25v2 i then the rule by %2 07 would be that if @»

1m0 MW 12152 (not only "W 171 NAR2A W), she is nwpn like by Myni 19a8N1.

Thinking it over
nvoIN writes that X1?y31 it is not PR since []’WW’PD 172 270 ’D] XN 17 73nn Eabrivzd

"13;" Seemingly the words of 723X J77 71n» *Aw have no real meaning here; she is
not NWTIPA since he was PWITPA 71°2 1773, why mention 7101 here (the same would
be if it is a IpPD) N

13 See footnote # 7.
1 See mwn nom.
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